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21 November 2003
1. (2) Use the Z-tranform to solve the difference equation
Tpao — 8Tpyy + by =1 (1)
with z; = 0 and xy = 0.
2. (2) Use the Z-tranform to solve the difference equation
Tpio — 8Tpy1 + 157y = 3° (2)
with 21 = 0 and zy = 0.
3. (2) Use the Z-tranform to solve the difference equation
Tppo — 8Ty + 15z = 04 (3)
with 1 = 0 and zg = 0. Remember §j, is the unit pulse with §; = (1,0,0,0,...).
4. (2) Use the Z-tranform to solve the difference equation
Thyo — STpy1 + 152, =0 (4)

with 21 = 2 and zy = 3.
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